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03 A& = 01| 3,780 0 3,780
O CtustEHS AT AIY AIE R
600,000,000 *0.63/100 3,780
sHEEZ2EFHIAMS 1,350,000 2,681,620 A 1,331,620
&L E2Z2 HHISAL 650,000 0 650,000
401 A& HIZ 2 CHHI 650,000 0 650,000
01 A& HI 647,660 0 647,660
O HSZUT 2 SHIZEZ AHL=0.72Km)
647,660,000 647,660
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SA: 2D
M C2AHSAY
SHol: SOlES 2 FHIA crol:
2. HM . Cle NEAY . B2 Al OH HEE Hl =2+
03 Al 201 2,340 0 2,340
O I Eez S X IAL 20|
650,000,000& *0.36/100 2,340
WAHELEZ HHISAH 500,000 0 500,000
401 Al HIZ 2O 500,000 0 500,000
01 Al&Hl 498,200 0 498,200
O WaH LT 2 S EZAHL=0.8Km)
498,200,000 498,200
03 Al & 201 1,800 0 1,800
O WA xgez SHELESAF 20
500,000,000& *0.36/100 1,800
Asitset2 U3 At 200,000 0 200,000
401 A& HIZ 20HYI 200,000 0 200,000
01 Al Hl 198,740 0 198,740
As0S ot HH| B AHL=0.20Km)
198,740,000& 198,740
03 Al& =01 1,260 0 1,260
O &=s0t= 2 EHIS AL R0l
200,000,000 *0.63/100 1,260
=S HHIALS 2,600,000 2,748,388 A 148,388
W=~01=22t S 2SS A} 200,000 0 200,000
401 AIEBIZ 2OHYI 200,000 0 200,000
01 A& HI 198,740 0 198,740
O 2&83d U~0H=22t S2E T I AHL=0.
60Km) 198,740,000& 198,740
03 A€ = 01| 1,260 0 1,260
O 2&85H L =2t TSI ESAI 20U
a]l 200,000,000& *0.63/100 1,260
SC~UHEZ ST 2E IS A 250,000 0 250,000
401 AlEHIZ 2 OHYI 250,000 0 250,000
01 A& HI 248,425 0 248,425
O S~z HZE2 022l 2 AHL=0.77Km)
248,425,000 248,425
03 AI& 201l 1,575 0 1,575
O Sel~t=E2t HZE2 0IR2SBAF 2id]
250,000,000& *0.63/100 1,575
ANBRUEZ SILE S A} 300,000 0 300,000
401 Al HIZL 2 0HYHI 300,000 0 300,000
01 Al &l 300,000 0 300,000
O MBIUTZ SELATAH237)BAHHI(L=0
80Km) 300,000, 000& 300,000
— 12 —




S AL
BE: C2ASAY
SHel: REHHIAY

- bolEN=
2N -3 - c2(3H) - NEME - HES 0] Ao @;OH Hl =2
2T 2 SEIIA 850,000 0 850,000

401 Al & HIL 2 HH 850,000 0 850,000
01 Al&H] 846,940 0 846,940
O H2AAUT 2 ST EZAH(L=0.50Km)
846,940,000 846,940
03 A& 2 0HH| 3,060 0 3,060
O WRRUT2 SIIIAL L OH
850,000, 00024 *0.36/100 3,060
22 ASEHIN CRETIDA 500,000 0 500,000
401 Al HI L 201 500,000 0 500,000
01 Al&H] 498,200 0 498,200
O 2~ ASEH2 T2E T HZAHL=1.02Km)
498,200,000 498,200
03 Al& 20HH 1,800 0 1,800
O +2~ASH2 T2 IXT A 204
500,000, 00024 *0.36/100 1,800
AS~HEATZ SILAEA DA 500,000 0 500,000
401 A& HIL 201 500,000 0 500,000
01 Al&H] 498,200 0 498,200
O As~HE2 T2ET A2 AHL=0.74Km)
498,200,000 498,200
03 Al 2 0H| 1,800 0 1,800
O AsS~HEZ SRETRDAL 20|
500,000, 00024 %0.36/100 1,800
WINEE JEIZE2AHY 1,413,852 2,861,174 A1,447,322
C2AAE Fo=2AAY 110,792 299,456 188,664
401 A& HI 220 110,792 299,456 188,664
01 Al&H] 110,000 295,000 A 185,000
OF0l=2 ALY 110,000
0 A2IE0I2 s =S 2 FH| 2 AHL=500m)
50,000, 000 50,000
0 ST 2442 & 5| 2 AHL=100m)
20,000,000 20,000
0 2E285 M ItAIOIE S 2 HI = AHL=100m)
25,000,000 25,000
0 0l RRYE 2 E 22 AH(L=50m)
15,000,000 15,000
03 Al 2 0HH 792 4,456 N3,664
ORI 110,000,00024 %0.72/100 792
W22 ALY 550,000 1,314,716 NT764,716
401 A& HI 2L 20| 550,000 1,314,716 NT764,716
01 Al&H 548,020 1,310,000 AT761,980
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L

21

D E2ALAMY
D WEIAES JIEHEZ MY (et =3
SN EE - ER(EN) - NRAY - BaS sl e HlRE2
Odguued2+U 223 AHL=93n)
348,740,000 348,740
O2UHLgHINBZI =82 (LS 2 100HW)
59,784,000& 59,784
OUnadUFAII=28 (U 2 50H)
139,496, 000& 139,496
03 A& 2 0HH| 1,980 4,716 N2,736
Oyl 550,000,000% *0.36/100 1,980
E2RX2elASE 753,060 747,002 6,058
201 fEt2Ad| 3,060 2,340 720
02 2244 3,060 2,340 720
OCCvVdIIe= 15,000 17CH*12& 3,060
401 Al EHIL 2OHY| 750,000 744,662 5,338
01 A& HI 745,275 740,000 5,275
OozZk 58k RANE* 198,740,000& 198,740
Ok s&% UM 99,370,000& 99,370
Oz ZHID &g 149,055,000& 149,055
OE=2H HIEH & 2 99,370,000& 99,370
ONgoIEEs+Y etEAlE&=E FHI
99,370,000& 99,370
OS2l EXE 49,685,000& 49,685
OE=ZA&2 52| 49,685,000& 49,685
03 Al 2 0Hd| 4,725 4,662 63
O&zxwXael 750,000,000 *0.63/100 4,725
E2ALEMNEE2H 217,744 58,050 159,694
E2EHXE 217,744 58,050 159,694
101 21 24H| 8,640 7,995 645
04 JIZtHZ22XSE+ 8,640 7,995 645
OEZNEETAA 2 72,000& 6001 %2 8,640
201 fEt2Ad| 25,064 23,235 1,829
01 AtR2tel 7,330 6,530 800
Oget=gH| 5,370
0.E2+2& HHl 7 40,0003 *1421+2& 1,120
0.0 IN=H 80, 000& »9CH *32l 2,160
0.0 52 z2&1¥ 4,0002 4004 1,600
0.GIF &Y X2 35,000 14 490
O3gH(E2HR=E 7,000& 40170 1,960
02 2324l 17,734 16,705 1,029
OXtee gth| 12,384
0.88101 SE BB
1,720% %40 £ *60CH*33] 12,384
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A AL
M T RALAE

CHe: T2ALAAHR2Y (&te @2
i} _ _ bolEN=
2N -3 - c2(3H) - NEME - HES 0] Ao @;OH Hl =2
OAEZHISX 5,350
0.0FD @Y7 8,000 x20E * 100 *23] 3,200
0.01FD 877
1,720 %1.25 ¢ *»10CH*1003] 2,150
202 04 Hl 4,800 4,800 0
01 2U0d bl 4,800 4,800 0
O AL H 100,000 *401 x 12& 4,800
206 T 2H] 21,760 16,300 5,460
01 XH 24| 21,760 16,300 5,460
OBlErAL Ot 2 3002 = 7,0000H 2,100
OgletAl 8H 2¢ 10,0002 x800 M’ 8,000
OXNH Het2sne 9,700 * 800Z[H 7,760
O=Z33%tE Y (1X0H 30ke)
13,0002 * 300 CH 3,900
301 Lt A2 1,400 1,400 0
10 HAIAHI A2 1,400 1,400 0
OE2E42 TZAIEHH| EFAI2 HlmAS
100,000 «14H 1,400
401 Al & HIL 2 HH 150,000 0 150,000
01 Al&H] 150,000 0 150,000
OS2 A X HE DAIA 150,000,000 150,000
405 XpAHE SH| 6,080 4,320 1,760
01 MY EEFSH| 6,080 4,320 1,760
oWzl 2 480,000 * 6CH 2,880
OJI1HE 600,000 * 2CH 1,200
OER0EE 2tHi2 8,000 * 10074 800
OotMEA ol 24,0002 * 50% 1,200
HES $H=2RAY 822,366 0 822,366
£ 822,366
TELHERAY 749,977 0 749,977
s 749,977
401 Al & HI L 2 HH 749,977 0 749,977
£ 749,977
01 Al&H] 749,977 0 749,977
OZ2E185H AOIKIRLHEERZA
117,205,000 117,205
£ 117,205
OZ2E31EH WX RLHERZA
632,772,000 632,772
£ 632,772
SHECR 2=H=2E2AMY 72,389 0 72,389
= 72,389




S AL
M CRAMAY
ool ¥ES2 =AY Chol 7 2
_ _ N E
M- E - S(3) - HRAY - BY2 Abou e HIRE
401 A& L THY| 72,389 72,389
72,389
01 A& 72,389 72,389
OS0HEZZ128H BIENPLHZRTA
57,085,000 57,085
s 57,085
OS0HEEZZ01SH YSNTLHERTIA
15,304,000 15,304
s 15,304
EHZ20IT +3=TA 3,587,458 3,587,458
= 2,891,992
s 688,864
2 6,602
HER0ID ZE 400 = AL 1,660,073 1,660,073
= 1,338,251
s 315,220
2 6,602
401 A& 2L 2 THY| 1,660,073 1,660,073
= 1,338,251
s 315,220
= 6,602
01 A&l 1,649,405 1,649,405
OZZ15846 LBXPLHERBA
494,612,0002 494,612
= 397,981
s 9,631
OZE1B56 HRAXIRLHZERBA
273,182,0002 273,182
= 219,811
s 53,371
OZZ9SH REUXALHZAZA
394,005,000 394,005
= 317,029
s 76,976
OZE1REE SXHRAEXRSHSPBA
43,830,000 43,830
= 35,333
s 8,497
ORT 288 MEDAXTEHZRBA
120,925,000% 120,925
= 97,482
s 23,443
OBE05H SL-BLXTLHERBA
210,490,000 210,490
= 169,367
s 41,123
OZE 155846 FA-RANDLHSRBA
35,869, 00084 35,869
= 28,916




SN AL D
N TRAHAALY

Sl EIZES0IT SH= A (e e
_ _ _ N E
SNBSS - HRAY - BHES 0 & o4 o HIRZE2
=3 351
= 6,602
OREREH LN RLHZRBA
45,042,000 45,042
= 36,311
s 8,731
ORE05H LHXPLHZRIA
31,450,0002 31,450
= 25,353
s 6,097
03 Al& S CHH| 10,668 0 10,668
OAN &SI 9,032
0 2E1554 SR 2H=ZP2A
803,651,0002! x0.0047844 3,845
= 3,845
0 21356 WX =2 A
443,869,000 *0.004785 2,124
= 2,124
0 2E954 BT LH=ZPTA
640, 183,000 *0.004784 3,063
= 3,063
0 2EN5H SY-BMXDLHZERTA
342,006,000 *0.47835/100 1,636
= 1,636
BHESD SHETE 2H=TAY 1,927,385 0 1,927,385
= 1,553,741
s 373,644
401 A& HIL 2Ot 1,927,385 0 1,927,385
= 1,553,741
s 373,644
01 Al& | 1,922,522 0 1,922,522
OS0EE 22065 21D FH 252 PAI
456,420,000 456,420
= 367,938
s 88,482
OSHECT234EHAANDLHE ALY
1,466,102,0008! 1,466,102
= 1,180,940
s 285, 162
03 Al& S CHH| 4,863 0 4,863
OSHEC2IUSHAADLHETAIY AL
Chbl 2,371,605,0002 *0. 0020505 4,863
= 4,863
sta = 17,255,947 7,999,994 9,255,953
= 9,167,246
2 1,700,000
s 137,507
= 654,000
= 5,597,194
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SN

A
g of
Al

cHel
_ _ _ Muo
SN EB -GS - MBAY - BES 01l &k o e HlE2
Aot 2el 6,065,828 2,949,816 3,116,012
=2 1,140,000
= 1,700,000
< 604,000
i 2,621,828
StERX2el 23 178,828 256,647 AT7,819
101 21 2d| 1,468 1,397 71
04 JIZtH22HEES 1,468 1,397 71
OctEti=Z2el R Y 36,6903 x40 1,468
201 L2 17,560 16,650 910
01 AR 2t eldl 1,960 1,050 910
Ol (st gRF2l) 7,000& »401%70 1,960
02 324 15,600 15,600 0
OZZ223LAA 15,600
0.0i==Z&D|otd 22l 1,100,000& 62 6,600
0.Hi=E&EIIAEZ 1,500,000& 62 9,000
202 ¢4l 4,800 3,600 1,200
01 =2 A bl 4,800 3,600 1,200
Ootd A L=H A H 100,000& 401 +12& 4,800
401 A& HIZ 2 CHYI 165,000 235,000 A80,000
01 A& H 155,000 235,000 280,000
OsJtSotE M &l 5,000,000& * 114 55,000
ONZZSHIJIA 1,000, 000& » 10090 £ 100,000
KeotE KX 2telAbS 260,000 175,000 85,000
& 130,000
i 130,000
401 Al EHIL 2OHY| 260,000 175,000 85,000
< 130,000
i 130,000
01 Al£H] 258,128 173,740 84,388
OXgot&E A 22lAG (IIE MAY|)
258,128,000& 258, 128
S 130,000
= 128,128
03 A2 201l 1,872 1,260 612
OXgotd R X 22l AHS 2l
260,000,000 %0.72/100 1,872
KgoteE=L A 2,833,000 1,166,667 1,666,333
= 1,700,000
i 1,133,000
401 Al EHIZ 20 YI 2,833,000 1,166,667 1,666,333
= 1,700,000
= 1,133,000
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fA AL

PSP 5}; eolla]
ool XIgotd2tel (9 E=2
M- ®=Z . Che (5 NEAY . B2 Al OH HEE Hl =2+
01 Al &l 2,822,801 1,162,466 1,660,335
OB ELAL (ST AW, 2T SE, B
A=) 2,822,801,000& 2,822,801
= 1,700,000
[ 1,122,801
03 Al & 21| 10,199 4,201 5,998
OXNdstEE4 A 2Ll
2,833,000,000& * 0.36/100 10,199
ENSHE R ALY 1,540,000 1,000,000 540,000
= 900,000
& 340,000
= 300,000
401 Al HIZL 2 0HYHI 1,540,000 1,000,000 540,000
= 900,000
& 340,000
= 300,000
01 Al Hl 1,534,456 993,700 540,756
OYHMENOIE T HALSA 1,534,456,000& 1,534,456
= 900,000
= 340,000
= 294,456
03 A€ =01 5,544 6,300 AT56
OLFMENSIA T HAS Al S CHYI
1,540,000,000& *0.36/100 5,544
SOl A H A Y 454,000 0 454,000
= 240,000
= 134,000
= 80,000
401 Al HIZ 20HYI 454,000 0 454,000
= 240,000
& 134,000
[ 80,000
01 Al &l 450,731 0 450,731
O 88 Ngko] 2 ZAAY 450,731,000 450,731
= 240,000
& 134,000
= 76,731
03 AI& 2 0HHI 3,269 0 3,269
O g8 Do &4 ZHAY A2
454,000,000 *0.72/100 3,269
HMRIF XIetE Il 400,000 0 400,000
401 A& HIZ 20 400,000 0 400,000
01 Al&Hl 397,480 0 397,480
O HMX7 &t& &l A (L=400m)
397,480,000 397,480
03 AI& 2 0HHI 2,520 0 2,520
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?HIEME
I‘I iH:

ot
cHe II%'%FJEJEI Gl M
i} _ bolEN=
2N -3 - c2(3H) - NEME - HES A oH @;OH Hl =2
O MR Gt FHIAIY SHHI
400,000,000 *0.63/100 2,520
HEXI 7 X otE H] 400,000 0 400,000
401 Al HI L 201 400,000 0 400,000
01 Al&H] 397,480 0 397,480
O HEXF o6& ZHlAFY (L=400m)
397,480,000 397,480
03 A& 201 2,520 0 2,520
O HEXF SHEEHIAIY 20
400,000,000 *0.63/100 2,520
QHFHT A XA 231,536 203,516 28,020
SHAHAZHI A XRAY 231,536 203,516 28,020
401 A& HI L =20 231,536 203,516 28,020
01 Al&H] 231,536 203,516 28,020
OL2Y =HXIAXAS 231,536
0.Gt 0 AloHd 231,536,0002 231,536
QLAEAAZIEF K2R , 759,544 3,996,662 A2,237,118
= 779,772
[= 50,000
= 929,772
AGIEEHIAIE [EX] ,659,544 2,596,662 A~937,118
= 779,772
[= 50,000
= 829,772
401 A& HI 220 ,659,544 2,596,662 A937,118
= 779,772
[= 50,000
= 829,772
01 Al&H] ,653,931 2,587,314 /933,383
OAGHEEHI AL (LH=ZDHAIA)
1,553,931,000& ,553,931
= 779,772
= 774,159
OXSHLETAL 100,000
0. 22IAGHEFHIZA 100,000,000 100,000
[= 50,000
= 50,000
03 A& 201 5,613 9,348 A3,735
OAotEEYIAISE 2THYI
1,559,000,0002 0. 36/100 5,613
ACHEEHIALY 100,000 400,000 300,000
401 Al H 2L 20| 100,000 400,000 300,000
01 Al&H] 99,280 397,480 298,200
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fA AL

Hm: od My
Chel: QAAGHE R X 22 (el =@
SN EE - ER(EN) - NRAY - BaS 01 &t o8 e HlRE2
OAGHE EHIALY 99,280
0.410] & A6t HHI S AHL=50m)
49,640,000& 49,640
0.41J1 =2 A3t & HI S AH(L=50m)
49,640,000& 49,640
03 A& 20| 720 2,520 21,800
OAGHEEHIALY Al R 0HHI 720
sl 100,000,000 *0.72/100 720
20tE 7 X 2te 85,000 0 85,000
ARSI L AL (SHA) 85,000 0 85,000
401 Al EHIL 2O Y| 85,000 0 85,000
01 A& HI 85,000 0 85,000
MEH ARSI SNL AL 35,000
0 A= A0tE HUIBA 15,000,000& 15,000
0 LHhSAGHE EHISA 20,000,000& 20,000
O Ul AREX IS AY 50,000
0 StAS&E ZHISA 50,000,000& 50,000
St s X 2el 500,000 850,000 350,000
HEIHSH ALY 500,000 350,000 150,000
401 A& Bl 2 CHHI 500,000 350,000 150,000
01 A& HI 498,200 347,480 150,720
OotEEH=ZNA & SZScIIAE
498,200,000& 498,200
03 AI& 2 0HHI 1,800 2,520 AT20
OStE RS EIZSHHAIS FCHHI
500,000,000% *0.36/100 1,800
SRTiEFAS 137,507 0 137,507
= 137,507
AGtE=H=EFAS 46,926 0 46,926
s 46,926
401 A& HIS 2 CHYI 46,926 0 46,926
= 46,926
01 A& HI 46,926 0 46,926
O2Z LGt =23 A 46,926,000 46,926
£ 46,926
StE =l EF2ALS 90,581 0 90,581
= 90,581
401 A& HIZ 2 CHHI 90,581 0 90, 581
s 90,581
01 A& HI 90,581 0 90, 581
OStEH=FL S A 30, 105,000& 30,105
= 30,105
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SA: AL D
Ha: o d Hl
Sl AESRLNE ALY (e @8
_ _ _ N E
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K @Egj HwsZ
SENEEY EEETS 48,261,00024 48,261
s 48,261
OM2ALH= DT A 12,215,0002 12,215
= 12,215
ENE S0/ +3H= A 8,476,532 0 8,476,532
=2 7,247,474
2 1,229,058
ASHHENZR0| T = DA 653,018 0 653,018
= 526,425
2 126,593
401 Al L 2T 653,018 0 653,018
= 526,425
2 126,503
01 Al &bl 653,018 0 653,018
OR2HLHZPTA 41,253,00024 41,253
= 33,256
2 7,997
OLDHLHETZA 52,538,0002 52,533
= 42,353
2 10,185
OIS AL H=E TR A 47,455,0002 47,455
= 38,256
2 9,199
OB LS HZE TR A 39,915,000 39,915
= 32,177
2 7,738
ONFELHE TR A 35, 125,0002 35,125
= 28,316
2 6,809
OMEHLHSTZ A 37,584,0002 37,584
=2 30,298
2 7,286
OHEA+H=PTA 41,010,000 41,010
=2 33,060
2 7,950
ORMELHERZ A 34,593,0002 34,593
=2 27,887
2 6,706
OSEHLHZPZA 113,530,0002 113,530
= 91,521
2 22,009
OHBHLHS TR A 47,466,00024 47,466
= 38,264
= 9,202
OBUELHS TR A 34, 109,0002 34,109
= 27,497
2 6,612
O UESHZRTA 52,887,002 52,867
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A AL
g otd &l

¢ EHER0Io SH=FAY EEEEE]
_ _ _ pSNE e
SAN-ZH-SA(FA) - NFAY - BES O AF K '@Egj Hlw &2

= 42,634
= 10,253
OFZBEH=ERIA 75,553,000 75,553
= 60,906
= 14,647

SIMEISRO0IO ol SR AIY 7,823,514 0 7,823,514
= 6,721,049
= 1,102,465

401 Al HIL 201 7,823,514 0 7,823,514
= 6,721,049
= 1,102,465

01 Al&H 7,804,124 0 7,804,124
OSZEH=ETRIA 125,523,000 125,523
= 101,189
= 24,334
OgI&E =R 3A 39,931,000 39,931
= 32,190
= 7,741
OUEAEHERSAL 56,432,000 56,432
= 45,492
= 10,940
Od&EH=ERS A 66,035,000 66,035
= 53,233
Ga 12,802
OsEHEFRZA 89, 115,000& 89,115
= 71,840
Ga 17,275
OSseldl=72A 42,108,000 42,108
= 33,945
T 8,163
OUREH=ETRZA 581,293,000& 581,293
= 501,365
= 79,928
Od&ELH=ETR A 824,013,000& 824,013
= 711,479
= 112,534
O EESH=ETRIA 1,176,100,000& 1,176,100
= 1,014,778
= 161,322
OptE =S A 94,861,000 94,861
= 76,471
= 18,390
OUtE =R ZA 4,640,716,000& 4,640,716
= 4,004,862
= 635,854
OlIZ2&E =13 A 67,997,000 67,997
= 54,815
= 13,182
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A AL
g otd &l

¢ EHER0Io SH=FAY EEEEE]
_ _ _ pSNE e
N33 S2(3H) - MEAMY - BES Aol 'Oﬁ,'\ja'ﬁ =
03 A& 201 19,390 0 19,390
OUZEA TEAL AIER0HYI
584,802,000% *0.59994/100 3,509
= 3,509
Oyl =73 AL AIE220H
1,180,350,000& *0.35999/100 4,250
= 4,250
OUtiE ol ST S AL AIE 20|
4,652,347,000& *0.25/100 11,631
= 11,631
szt 113,010 94,734 18,276
= 16,477
< 13,639
= 82,894
CHobX2te| CHEM s 42,360 29,680 12,680
= 9,800
< 4,900
= 27,660
LHOPM X & eI 2 22,760 29,680 26,920
201 Lr2E 11,360 14,440 /3,080
01 At22telH] 10,360 11,440 A 1,080
Ogt==2H| 6,000
0.7ttt 2| A=A S 60,0003 100 6,000
o=2d+ 2,400
0.t T A=Y
50,000 1021 x23] 1,000
0.tM2ARNE2HARSEHA
50,0003 * 1401 %23 1,400
OSSH(MHHERFA) 7,000& »401+70 1,960
03 A2 & 1,000 3,000 A2,000
otz Bl (13l) 1,000,000 1,000
202 o4l 4,800 8,640 23,840
01 =LHod bl 4,800 8,640 A3,840
OMe A== 04bI 100,000 #4021 x12& 4,800
203 ¥R =&l 1,000 1,000 0
03 Al H =& 2 =& 1,000 1,000 0
OMutord el & HIHYR=E 1,000,000 1,000
302 OIF=LMHEA S 3,600 3,600 0
02 RIZIQITHOH E &3 3,600 3,600 0
oglztol THaE A= 3,600
O.JHoH &0l HE sHEH RFUXH
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